EANRAROESIERT —

ZN—ABISH—F

20195 7H318 (k) 8EIFIRISH

m JLy2aCh (FREBE) Y I7R2EFE \ (%] & \ (amml - | &% (B) 1200 &
[A&4] 1 7% :1,500,000 @ 23 :300,000 ~ 33#&:225,000H  43#&:150,000 @ .~ 5 & :75,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A E R 4. = . — NEEN (AtimE)
1188 Jav/v0 4 2 54.OEL 1(1_4)8 2-2 39.4 1 (4E2) P 2
:2bA>TgUE—> BE—-UTA)R AW RS
> : 8 2 | EBREC 1:15.2 1-1 39.8| — 2 476 | LOE— (dtiEE)
2 3| 7T A=K 54.0 @) (=) | W mmC .
L:hFotEP N B:Oq L FHTRE— 1Y ELRT7—L
N SEEE : = — ASE (teE)
) | LAZXTZ R =1 it 2 Sas 1.(1:).4 3-3 40.2 3 (414) i BiE
LHYIRTTIRX B9V LITLT A wmE
Y 4 2 | HLERE 1:16.6 4-4 40.3| — 8 438 | A EIEFD (dtimiE)
47l 7| bF/ XD 54.0 ) (=) |FIERETF -
x> dAq/0— B:xgvILdIN B 77—L
s = 42 | BHME 1:16.7 7-6 39.9| — 5 474 | BEEIERL (dtimiE)
] 4|>3777 J 54.0 (2 E) (—) |EERZ =
L:bE-XaA-F— B:TUvEI—FT+1 J—=AH-F>
. g 2 | FEXRK 1:16.8 5-4 40.2| — 4 450 | REREL (biEE)
6|89 Ex&—A—F %530 e Oy | mmc
L:F 1 —=TAHhA B:NxXvOhU—J KBRS
. ; s 2 | AllE 1:17.5 5-7 40.7| — 7 432 | /NEEfT (tiEE)
71111 :E/Zg_l/_'j 54.0 (3) (=) EERT =
:7VF—-v BR-N—FTIZR pailz:bve ]
S o2 | BRERES 1:18.5 8-8 39.7| — 6 454 | BRERE (LiEE)
EH 6| TN— 1 540 5 Oy | T
7oA KE B A7 =— AL
4 2 | RITEEA — - — — — — | EHRARE (tmE)
x|5|5 | AXAINT 1 54.0 (5 <) @ SRT
RIART—NoF— BTy TI34927 FE K
® I—F—&BIERL
13—-7-
23—7F—
T =35r= 3,8,2,7,(1,9) ,4,6
41—F— 3,8,2,(7,9) ,4,1,6
[ RN
B 8 230 794K 3-8 190 & 3-8 290 &R 2-3-8 690F
# B 8 1004 2-8 240 B E 3-8 370 EE 8-3-2 2,390M
3 120 2-3 350M B H 8-3 740M
2 150
ABICOVWTRHDTERERRODLDE, THERLE,




